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E,(Q 00 E,(F,) 0000000000.00000000000000000O0.
DDDP@D2Dlﬁ:@h%mxgzcmmﬁﬁDPﬁDDDDD]%:EDD
00000000.0000000000.

00 3.8. P=R 000000 p 0 yi120 — Y21, Tozs — T122, T1Ys — Toy; D OO0
00o0oOoo0oooooo.

00. 00000 A=A 0000000,P0R0ROOOOCOOOOOOON
0odd pdoboodooooboooboooono. oo poooooooo
ooooo. oo 20000000a0.

)p0  0000000: 0000 ,p0 292,200 00000 29,01,22 0000
pO00000000D00OCOO 2 O p000O0OCOOO0OODODO.OOO pfy0O
O plyize — 2 OO0 OODOO,

Py = (%2,72, 22) = (0, 5152, J122) = (0, 172, 12Z1) = (0,71, 21) = Py

O00.p [ 000000000.
i)p0D » 000O0DOOOODO:00OO0OO,

Py = (T, 02, 22) = (T1T, T1lf, T122) = (T1Z2, Toli1, T2Z1) = (T1, 51, 21) = P
god.
P =P 00000.0000000000p fr, 000,0000 p fz,000

(Z1Z9, T112, T172) = (T2, Yo, Z0) = Po = Py = (T4, 91, 21) = (TaZ1, o1, T2Z1)

O00. P,R,00 1000000000 20000 30000000000000
O000.000p0 my. —xay1, 2122 — 202 10 0000000000000, 00
D0000000000000000 pOd y2e—1x 0000000000, ¢ O
w1 pO0OO0O0ODOO0O0ODOO0OO0ODOO0OO0ODOO0. 000000000000 000000
0.000,pp0000P~P=PR0O0)ppO0000

(1T2, Th¥a, Y1 22) = (T2, Y2, Z2) = Po = Py = (T1, 91, 21) = (Y1, Yalh1, J221)

0000 pl iz —yex DOOO0OOODOOO0O. OO0OO0DODOOOOODOO
0. [l

00000 38 00000000, OO0 37 OD0ODOOOO. DODDOOOO
ooo. 0oo, E,(Q 0000 2000000000000000. DOOO
E,(Q 00000000000, 0000D0 40000000000 800O0OO
l6000000C. O0D000000 E.(Qres D00 mODODODO 8000000
S=P,P,....,P, CE,Qlors 00000.0 P(i=1,....,m)0 Plwxy;,2) 00
O0000000.20 P,P,0000,00 (yizj —y;2i, Tj2i — T2, Tiy; — ;) € R?
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0000. PP, 000000000000000,000000000.000,0
00 00000.n; 0000000000000000.00 (38)000 PO P
0 E,(F,)0000000 B=P,000000p0 000000000000,
00000 p0O0000 2, 0000000000000000000000000
00000000. 000 pO0000000000 $00 E,(F,) 0000000
000000.000,500000 mO0000000000000 pO #E,(F,)
0000000000000 00000000. 0000000000 40000
03000000 p0000,00(3.6)00 p=-1 modm 000000000
0000, m=8000 8+3000000000,mO0000003 fmO00O
4mk+3000000000,3mO000 12k+7000000000000000
0000000, Dirichlet 00 000000000000000000000000
000000000000000. O

00 3.7 0000000 0000ooooOoooooooog.

00 39..0000000000 E,(Q U000 r000000000O0O0OOO
oo.

. n000000ooooooo. 0 n0000O0 3000OOOOOOO0Od
gobh g, 000000000,00 0D00000DO0O00O0DOOOODODOOODOO
gog.do 20 300000000 2000 0,z 000000 2000000
0000000000000O0O0000. 00 (3.7 00000000000 OO0
gogooooooooo -0 1obboooooogag.
E,(QUO00r-000000000O00,POOOODOOODOOOODOO.O PO
200 2P0 20000000 zx00Db0O0OO0DOODDO,DO00ODDOODDO.
00 3400000000 22000000 n0000000000000000
00000.000,n00000 p0000,p#2000 ordy(a?+n?) < ordy(y),
p=2000 ordy(a? +n?) <ordy(2y) DODODODODOD. 00, p#2000
ordy(z? +n?) <ord,(y) DODOODOO.
(1) ord,(z) < ordy(n) 0O 0O: ordy(n) =1 00 ordy(z) < 0. 000 ordy(z? +
n?) = 2ord,(z). y* = 2* —n*x 00000 ord,(2) = ord,(y?). OO0 ordy(z) =
20rd,(y)/3<3<0000. 000

ord,(z* + n?) = dord,(y)/3 < ord,(y)

goo.
(2) ord,(z) > ord,(n) OO DO: ordy(n) =1 00000 ordy(z) > 200 ordy(z? +
n?)=2. y* =z(x —n)(x+n) 00 ord,(y?) = ord,(z) + 2ord,(n) 0 0 O,

ord,(y) > 2 = ord,(z* + n?)
gag.
(3) ordy(xz) = ordy(n) OO 0O: ordy(z) =1 000 ¢* =z(z —n)(z+n) D000
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2ord,(y) > 3. 20rd,(y) 00000000, ordy(y) > 2. 000 ord,(z*+n?) =200
O0000O0. ordy(y) > 20 y* = z(z—n)(z+n) OO ord,(z+n)+ord,(z—n) > 30
00.000,o0rdy(z+n)>2000 ordy(z—n) >2000. 22+n? = (z£n)?>F2zn
00 ordy(z+n)>200000, ordy(2?+n2)=20000. 00 (3400000
goo. [

00 3.10. 00 » 00000 30 X <Y < Z 000000000, 000
(r,4£) € 2E,(Q)—{0} 000 1:100000,0000000000000.

(x,+y) — Ve+n—vVr—n,Vr+n++r—n, 2z,
XY, 7 — (Z2)4,+£(Y? — X2)Z/8)

00 3.1)000000,00 (3.10)000000o0o0D0oooooooooO.

00 3.11. FOO0D000 ¢ = (z—e)(x—e)(x—e3) (en,e0,e3) €QOODO. O
000, P=(z0,y) € E(Q) -{0}000.0000,PecEQ) -{0}00000
0 zo—ey,20—es,70—es D000000000000D000ODOD0.

gb.o0bobbobooodgdgdd, s =000000000000000. 0OD0OO0O
00,0000 2Z/=2—-2000000000000000000000O, 00
00 B :y*=(x—€)(z—¢ey)(x—€}) (el =e —x) 0000 P = (0,y0) O
2F(Q)- {0} 0000000, PO2EQ 000000D00NON0DN0DNON0OO
gbobobo. ogobbbuooobbt zo=00000000000000.

O00,0000000QeFEQDO2Q=PO0000O0O0O0O0O0ODO,00004
000 Q,0:1,Q:,Q:€ E(Q ODODDDD,2Q,=P0000000000.

20 =P =(0,4) 0000000 Q= (z,y) 000. 00000 10QO00DO
OoooooooooooooogobD. bobobob QUu2Q=pPO000O0OO
0000000 Q0000000 —P=(0,—y) 0000000000000. O
gbooboogboggbo. oogbooobooobo, bbb mn0bogbboooo
0,Q0 z000 30000 (mz—y)?=(x—e)(zr—e)(w—e3) 020000
O,2=(m?+e+e2+e;)/2000000000.0000,Q0 yOOOOOO
y=mx—y UO00O. 0000, -PO0O FOO0OO0OOOOOODOOOOOOOO
gbobooooboo.

mO0O0O04O0O0O00. mUO00OOO00O0 —POO FOODOOOOOOODODOODOO
gbood 200000000bbbaoaoboo.

(ma — y0)2 =(x—e)(x—e)(x—e3) = 2 + ax’® + bx + c.
Oooo

Q= —€1 — €2 — €3,
b= €16 + e1e3 + €g9€3,

2
C = —€1€2€3 = Y-
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guoooooboobobbobooooad.
2+ (a —m?)x + (b + 2my) = 0.
goodoo.obobobooo o,
(a —m?*)? —4(b+ 2myy) = 0

000000. 000,00 mO000 4000000000000000000
oooooo.

m 0000000000 - 00000000000000000000000
00.000000000000000000 f2=-¢000 £00000.¢=0
00000 £,00 20000000000 y=~fff 000000000000
O0000O000. 000 400000000000.

[
Lo—fe —fo
(3.12) "o~ fa
_fl f2 _f3'

gbbob 100d0bobbbooodgb.bboooobboboaad.

s1=fi+ fa+ fs,
sy = fifa+ fafs + fifs,
s3 = fifafs.

goo

a=fi+ 5+ 5 =51 — 25
b=fifs + fifi+ [ifs = 55— 23185,

Yo = S3.
goo.odogoooo
(m? — s7) + 4sy(m? — s7) — 8s3(m — 1) = 0.

000000 m—s 000000.000m=s=Ff+f+f00000.f0
000040000000 mO 400000000

my = f1+ fo+ f3,

mo = f1 — fo— [3,
m3 = —f1— fa+ f3,
my = —fi+ fo— f3.
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oood. my,me,mg,my 00000000000 OOOOOO. f, 000000
O my,me,ms3,my 0000000, my,me,ms,my 00000000 f1 = (my +
ms)/2, fo = (m1+m3)/2, fs=(m+my)/20000000. 0000 QO z,y0O
O000Oo0000obDnO 000000000 DO00000D0ODOO000OooDoOn
good. ]
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3.2 0000 E,0 LOO

ooooobooob p,0 LO0O0O0O0ODOO0O. D00 LOO0O s=1000000
oob0 E, 0000000000000 DOO0. 00,00b00boooboon.

00 313 (0000000).VOF,(¢=p)0000000000000000
00000000.F 0000000 KOOOO,V(K)D VO KOO0OO0O00O
0000000, N, =4V(F)0OO0O0.V0OF0000000000000000

gg.
o TT.
Z(VIF;T) :=exp ZlNTT :
vioodo F,0000000ooo0ogoooooon. F,0000000000
goob pO0O000b0bObOO0O0o0obbbOooobbboooon.

1 —2apT + qT*
1-T)1—qT)

(3.14) Z(EJF;T) =

O00,2«p 00000 FOOOOOOOODODOOO
QGEZQ+1_#E<Fq)

000. 000 1-2a5T + ¢ 00000000, 000, 1 2a5T + ¢T? =
(1—-aoT)(1—-(¢/)T) D DODO.
0000,317 0000000000000 0Og,.

(3.15) N, =q¢ +1—-a" —(q/a)".

0000 E,:y*=2*-n*x0000 (315)0000000000,0000000
gbooog.

00 3.16.p 2n 000. 0000,

1= 2ap,T+pT? (1 -aT)(1—aT)

(3.17) Z(En[Fp T) = A-T)1—pT) (A —-T)(1—pT)

000, ag, =ReaD00,a0p=3 mod4000,4i/p.p=1 mod4 000,
Zl{) 000000 pO0OO000,2+2 00000 (g)DDDDDDDDDDD.

Z(E,)F;T)O T=p* 000000000 E,0LOO0DOOODO.

00 3.18. 0000 E,0 LOO L(E,,s) 000000000,

(3.19) L(Bns) = Cés()éijw_p ;1138)‘

25



L(E,,s)0 Res>3/200000. 00000 ¢(s)¢(s—1)0,00000000
000 p2n 000000 1/(1—p ) (1—p'*)00000,p2n 000000 10
000000000.00,L000

(3.20) L(E.s) =[]
pl2n

oooooooboooo. Logboobobobobobo,obobobobobo
oboobooboobooobooobod

1
1—=2ap,p=>+p"=%

> bmn
321 L(E,. s) = :
(3.21) (Fus) = >
oooooo.
0 3.22.
1 1 1
L(E: s) — . . )
(Bus) =13 05 T52.5555. 25 14740
1 1
“T¥11-121° 1-6-13°+13-160°
Do,

=1-2-5°-3.9746-137"+ ) =&

S
m>17

o000 £, 0 L000 0 LO0000000000.»0000,2n000
bbb 000000000 (%)DDDD zOooooooOo x,0boo

LBy 1= Y Kb

ms
m=1

n s n\? _. n s
—1—2<g>5 —3(§>9 +6<1—3>13 T
000000000 [4, p8l. L(E,s) O L(E,s) 000 xOOOOOOOO,
L(E,,s) = L(E1,x.,s) O000.

00,0000 f(z)=5%,d(n)¢"0000,00 LOODO

(3.23) L(f,s):f:dg;‘)
DDDDD.L(f,s)DDDDDDDDDD;;DDDDDDDDD. ooo
(3.24) M@=<%§>N$Mﬁ$

oo

(3.25) A(s) = CA(k — s) (C = £1)
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00000000000000000000.
Weil 0D0OOOOOOD. 00000000,0000000 Ydr)n 00000
00000 Y x(n)dr)n*000000000000,0000 ¢qO000 M(Te(N))
0oooooo0oooo.

xo0 NOOOOOOOOOOOOOOOOOO0O. x00000O00 mO00O
000000, m0 NOOOOOOOO,O000 400000000000. O
0000,mO0000000000000000,000000000000000
{u+jv}jez, (u,v) =100 mOODO00 1000000000000, 0000
0000000000,000000000000000000000000. 00
00 y0OOOOOODOO00000O0,mO000000000000000000
000 mO0O000000O0O0 y0OOOOOOOOOOO.

000000 mOO0OO0O0O0O0 y0OOOOOOOOO.

(3.26) Cy = Cxo(m)x(N)g(x)/9(x).

000, g(x) = XM x(7)e®® 00000000, 00000 ¢ 00 f(2) =
S d(n)g* O |d(n)| =O0(n) 000000, L(f,s) 0 (3.23) 000, A(s) O (3.24)
0000.00,0000000.

(3.27) L(f,x:8) = Y x(n)d(n)n™*,
(3.28) A(x,s) = (mV'N/2m)°T(s)L(f, x, ).

gboob,o0boobooggbn.

00 3.29 (WeilDOO [4, p.143]). 000000 mO00 yOOOOOOOOO
00000, (3.28) 000000 A(y,s) 0000000000000000000
0000, (327) 000000 ¢, 0000000 A(y,s)=CA(nk—s) 0000
00000.0000,

f € Mp(N, xo0).

000 L(f,s) 000 e>00000Ims>k—e 0000000000 fO000
goobogg.

WellDOOOOOOOOOODOO.

bmn
L(Ey,s)=1-2-57-3-97"46-13°+ ) ™

s
m>17

gobobo ¢

fE1 (Z) =q— 26]5 - 3q9 + 6(]13 + Z bm,lqm

m>25
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000 2,000 32000000000 [4).
000,000000000000000 LOOO000,0000 ¢0000
0 2000000000000000 4. 000000000000000000
00000000000000000,Q0000000000000000000
nooooo (18]

00000 L00000000000000000.

00 3.30 (Coates-Wiles [3]). F 000000000 OOOOOD. 0000, FE
00000 000000000 L(E,1)=0000.

00,00000000000 FOODOO, L(E,s)0 s=100000000
o000 1000,0000000000000000000000O00O [4]. OOO,
Kolyvagm OO OO OOO0OODOOO0OOODOOOOODOODOOOOODOODOOOOn
O0o0oooooooo e 7, 10].
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3.3 Uouoboogd

D0000 Twnel00O0O0O00000000D0000000OOOOO. t000
0000, 0000000000 g=¢"*000. 00000 6,(2) 0 6,(2) =
™ ¢ 000. 6() 000 1/2,000 128, 00 x, 00000O00000.
Serre-Stark [11] 00000 {6a(2),6s(2),032(2)} 000 1/2,000 128000000
00000000, {01(2),04(2),016(2)}y 000 1/2,000 128,00 x, 00000
oooooo.

9(2) =q[[2,(1-¢*)(1—¢"*)000. g(») 000 1,000 32,00 x, 0000
000000 newformO OO (00 3.32). 00O, {g(2)02(z2),9(2)0s(2), g(2)032(2) }
000 3/2,000 128000000000000, {9(2)01(2),9(2)04(2), g(2)016(2) }
000 1/2,000 128,00 x., 000000000000, TunnellO L(Ey,s) O
0000 fg € S(T4(32) 00000000 f € S3pTo(N),x) 0000000
(00 3.33). Niwa [9)0 00 SH(f) O So(To(N/2),x*) 0000000000000
0. 000,N=6400000.000,SH(f)0 N/200000 N OOOO
Sy(To(N"),x*) 000000000, Tunnell0 fp, OO0O000,000 640 f O
00, f;,, 00000D00000D000000000O 128000000000000.

O000D0 LODD0O000000000 Waldspurger 0000000 O . Tunnell
00000000000 000000003340000.

00 3.31 (Waldspurger [17]). ¢ 000 k-1, 00 x> 000 newform O, O
0 k/200000 f0000000O00ODOOOO0O. 00000 1600000
OO0000D0O. D000, b00000000D00000DOO0 CcOobOoboOoboo
Af)00000. 000, 0000000000000 OO0OOOOO0.

Lo A2, 1/2) = 202m) Rk = 1)/2) Lo, x T v (k -
1)/2).

2. 0000000 NOOOO,SAne(n)g® 0000000000 k/2,00
0 N,0OO 00000000000 ¢00000000000,00000
000000 ¢(p) 0000000000

00 [1770000000000000000000000000 33400000
00000000000, Hecke 00 n 000000000 €(n,1/2) 00 [15/00
00000000000,20000000000 000000000.00000
0000 ¢(n) 000 [17]0 11 000000000.

00 3.32 (Tunnell [16]). g(2) OO0 1,000 32,00 . 000,000000
O00 newform OO0O.

m-n m 2 n2 n m 2 n2
9(2) :Z(_l) + q(4 +1)%+16 :Z(_l) q(4 +1)%+8n?

000 g(,) 0 200000000000000000000 (Moreno [8] ).
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00 3.33 (Tunnell [16]). OO 3/2 000000 g(2)62,9(2)04, g(2)0s, g(2)016 O
OO000D00O0,00 2,000 32000000 fg, O00O0O.

O00. {g(2)02(2),9(2)0s(2),9(2)0s2(2)} DODO 3/2,000 128000000000
gogd. oo qguuougg

(2)02(2) = g+ 2¢° + ¢° — 2¢"" — 4¢"" — 2¢"° — 3¢® + 4¢* — 4¢> + - -
(2)0s(2) = g+ ¢° — 4¢'" — 3¢* + 4¢* + - -
9(2)0s2(2) = q¢— ¢ — 2¢"" + ¢* +2¢% + - --

gz

z

O0D0. HeckeOOO T, 000 3/2,000 128000000000000 3/2,0
00 128000000000. Ty, T5: 00000 g(2)02(2), g(2)0s(2),29(2)0s2(2) —
g(2)0s DODO0ODODODO,000 2000000 M=0XA=-2000. 00,
29(2)032(2) — g(2)0s = S.%___p(m)ymg™ 0000. 000 ¢ 000000000
00 402000000.

000 T, 0000 g(2)04(2),9(2)0s() 00000000000 000. g(2)8a(2), 9(2)bs(2)
0 ¢mmg™ 0Te, T 000000000000,0000000000.
000, g(2)02(2),9(2)0s(2) DOODO T, 000000, g(2)(62(2) —bs(2)) O n O
O0000 0800000 300000000000,49(2)0s(z)0 00000
0800000 100000000000. 00 21600 T,2(g9(2)(02(2) — 0s(2)))
O T,2(9(2)0s(2)) 00 n 000 ¢0O0000 00000O0DODOOODODODO 8000
DD0000000. T,: O g(2)(02(2) —6s(2)),9(2)0s(z) DO OOODODOOODODOOO
0,0000000 T.000000000000000OO.

O00000D0000000000 128000 ¢4,0,00000.p=3,5000
D000000000 [1, Table 3]00 ¢y = ¢ = fr, D0 0. g(2)04(2), 9(2)016 O
0000000oooo0oo.

O

00 3.34 (Tunnell [16]). z € H,q = ™%, g(z) = qH(l — (1 =", 0,(2) =
n=1

> ¢, (teZ.)000,

n=—oo

g9(2)02(2), g(2)04(2) 0 ¢ OODODOODOOODODO.

[e.o]

9(2)0:(2) = Y _aln)g",  g(2)0a(2) = Y b(n)q".

n=1

nUooobboooggobobodg. bood,

L(E,,1) = a(”)i#

* dx
goo, g= — =2.62205--- 000.
p /1 Va3 —x

30
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O00. Waldspurger 1 00 [17]00,00 200000000,0000000000
0000 CO000 A@)ooooo.

L A(t)? = L(fB,, X 1) (= L(Ey, 1)).

2. 000000000 ¢(n) 000000 ¢(n) 0000 Y A(n)e(n)g® 0000
0000000 3/2,000 128, SH(f)=fr, 000 f0000000000
noooo.

000, c(n) =ni[[e(n),p000,n0000000000000000 cy(n) =1
D0000000. 000000000000 n000 ¢n) =nie®) 000. O
O00,c(n)0 80000000000 nO0O00O0O0OODODDOODO.

xO0OOOO0DO000000. g(2)0(2), g(2)0s(z) DO D 3/2, 000 128, SH
(f)=fs,, 000000 T.000O000O0O0O0OO0DOOOOO0OOOOOOODOO.

9(2)01(2), g(2)0s(2) 0 ¢ OOOO0On#1,3 mod 800000 00000, OO
O,n=57mod80000 An) =0000. ¢(n) O a(n) = BAn)ni, a(n) =
BsA)ni 0000000 n=1,3 mod 8000000 B,5 000. 00 200
gooooooog,

a(n)2 - %L(Em 1)n% n=1 mod 8§,
a(n)2 — ﬁ;?L(En, 1)71% n=3 mod 8,
a(n)? =0= A(n)® = L(E,,1) n=>5,7 mod 8.
G, 00000.
ﬁ—/wd—x =2.62205- - -
1 Vad—ux

0O00.BSD [2) 00

— 5 — l

1= @BL(F,1), 4=8L(Es1)32.

ooo A
—:ﬁQZﬁQ.
ﬁ 1 3
ooo
9 _1
L(Eml):a(n)n zﬁ‘
4
X=x2 00000000000, Waldspurger (171 00000000

A(t)2 = L(fE17X2Xt7 1) = L(EQta 1)
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O00. 0000000 (g(2)04(2) — g(2)016(2)),9(2)016(2) OO OO O, n = 3,7
mod 8 0000 A(n)=0000. ¢(n) O b(n) =y A(n)ni, b(n) = BsA(n)ni 00
OO0000 n=1,0 mod 8000000 ym,ys000. 002000000000
0o,

b(n)? = yiL(Esy, 1)n% n=1 mod 8,
b(n)? = 2 L(Es,, 1)n% n=5 mod 8.

")/1,"}/5|:||:||:||:|D
< dz
= — =2.62205---
b /1 Vil —x
O00. BSD 200

N[

L(Ey1) 1 L(Ew 5%
PR g

00 b(1)=1,b6(3)=200

1 =~2L(Es, 1), 4=~2L(Ey,1)52.

0oof )
2-22 2 2
=N =7
6 1 5
oond
b(n)?2n~
L(E'gn,l): (n) n-z20

g(2)0,(z) 0 ¢ O OO
9(2)02(2) = ¢ +2¢° +¢" — 2" — 4¢"" — 2¢"° = 3¢* + 4¢% — 4¢¥ + -+

000000. Tunel 00000, 0000000000000000000000
000 1,3,11,17,19,33,35 00 000000000000. 00,0000000
0000000000 0000000 5,7,13,15,21,23,29.31 00000000
000.0BSDOOOOOOODODOOOOOOOOODODOOO.
000,0BSDOO0OOOOOOOOOOOOOODODOOOOOODOOG
00000. 000000000 »n0000

XYy
(3.35) X2 +Y?i=27% —=n

00000000 (X,Y,Z)0O000000. 5,7,13,15,21,23,29,31 00000
00000000000000000000000.
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(X,Y,Z2)
20 41
S (A2
2°3°6
L (% 2 5
12" 57 60
13 323 780 106921
30 73237 9690
1
15 (2410
2 2
2
21 3,12,—5
2 2
93 80155 41496 905141617
20748 3485 7 72306780
99 99 52780 48029801
910" 99 ' 90090
31 8897 720 2566561
360 " 2877 103320

5,15,21 0000,0000 (X,Y,Z) 000000000000 00O000OOOO
O00. 000 200000 (33)000000000000000000O00O00O0O
ooooo.
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34 qqUUOO nU0O00O0D0O0O0O0OO

000 Introduction0 OO0, TunnellOO DO 3340000 qU00 nOOO0O
Oo0oooooooooo.

9(z) O X
9(2) = (01(2) — 04(2))(032(2) — 598(2))
oooooo,
9(2)02(2) = (01(2) — 04(2))(032(2) — %98(2))92(2)

O00. 00000 n0O0O0OO, g(2)0(2) 0 nODO0O00ODOODO.00000 nO
gbbbooodaon.

1 2 2 2 1 2 2 2
01(2)(032(2) — 598(Z>)92<2) = Z QY 3 Z PSS

x,y,zEZ x»y}zEZ
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